DBEENTREZINE A NUSREERECERRAEITR

B

1~ BETEER - FREARSEE ?

8~ MRERWEN > REEBRES

ﬁ%kﬁféﬂ
~ RTG53 RHE ?

E XK Gl ==
EHF A (BEEA 7 17.50%
& 28 70.00%
= A 5 12.50%
EH8 AN REA) 0 0.00%
[ZREPN 0 0.00%
# Al 0 0.00%
b 5] 31 2 2] 5 0 0.00%
AETREH 0 0.00%
&t B 40 100.00%
2~ AIMREE - BEE KK

=K A EE:

B 0 0.00%
TER 0 0.00%
i 0 0.00%
HH R 0 0.00%
B 0 0.00%
ifice 1 2.50%
TR 2 5.00%
=ik 1 2.50%
H i 0 0.00%
2R 0 0.00%
ticd 2 5.00%
R 2 5.00%
e 1 2.50%
Eiicd 1 2.50%
st 2 5.00%
(Bl 0 0.00%
PN 3 7.50%
e 1 2.50%
SR 1 2.50%
2R 1 2.50%
FR 0 0.00%
piud; e 0 0.00%
FEE 1 2.50%
2RI 0 0.00%
(Editd 0 0.00%
il 1 2.50%
glli%s 0 0.00%
[hdiks 0 0.00%
T 2 5.00%
HR 0 0.00%
DA% 2 5.00%
ks 4 10.00%
B 1 2.50%
g 2 5.00%
ENirs 1 2.50%
RS 2 5.00%
FE 2 5.00%
Ft 0 0.00%
Z W 0 0.00%
Pt 0 0.00%
5484 2 5.00%
piirs 1 2.50%
HHE 1 2.50%
RS 0 0.00%
AatECihl 0 0.00%
=riRan S 40 100.00%

% 2 P ER BEHERES A ERESBLH
T EE 20 | Tosow| [RRMERZE?
LIRS A5 11 27.50% & = IES 7 ERaEs
PEZ=PNGIE-! 0.00% JEERSS 0 0.00%
RIFTR 0.00% Ry 27 67.50%
& At # 40 100.00% i 13 32.50%
RELY 0.00%
2 ~ R R T B AR AR A 2 EEARTS 0.00%
%5 = st = & TR 0.00%
JEE LT 0 0.00% & a8 40 100.00%
R’ 21 52.50%
A IF .
= P T o R - REE(REER
K 0.00% B)REMERIEE A R EREET
JEE R 0.00% JBERE Pk LA RRER] ?
Gy 0.00% & & | aw | mot
& B 1 B 40 100.00% JEEF LY 0 0.00%
Ry 26 65.00%
3 - RBREMBEFE)SSFENFE? Sy 14 35.00%
E O E 8 H o vy 0.00%
HERSBARE 10 25.00% JEER TS 0.00%
BEAE1053 88 DAY 30 75.00% FFER 0.00%
FEAE105 30573 0.00% & a8 40 100.00%
WEHEI0ZE 604 0.00%
BHE6OS78E L 0.00%
FFER 0.00% 10 ~ FERTHEAEA A ABRIBEETH
& it B 40 100.00% B?
I lag4 ERi+
4~ EERAREE(REZEEE)NHE JEEWE 0 0.00%
REFEEA0{ ? S 34 85.00%
E - s =P siiy=g ) 15.00%
IEFELT 0 0.00% s 0.00%
1R #F 17 42.50% JEHER TR 0.00%
A 23 57.50% %+ 0.00%
K 4F 0.00% & a8 40 100.00%
IEERGT 0.00%
FFER 0.00% 11 - FHTCHABNRBERES
&t 40 100.00% R ?
e E X EE H 47 kb
R BREE (REFEHE) MER JIEE W= 0 0.00%
= NS EE B
§ﬁwn\Eiﬁém;ﬁ§ﬁ% ? ;\%% 39 9750%
E = e =l I 2.50%
JEHZE 0 0.00% RE 0.00%
=t 27 67.50% JEHER TR 0.00%
g 13 32.50% %+ 0.00%
AZRE 0.00% &t 8 40 100.00%
FEERLE 0.00%
* TR 0.00% 12 - FETHAZ B TIREEERE
&y 40 100.00% EREWE ?
E = 8 ERadss
6 - BEE(REZLHE)EAE)ERE JEE R 0 0.00%
T EEEEENT ? S 39 97.50%
E = GRS R = 2.50%
HeEE 39 97.50% Ty 0.00%
H HZ% %”—i 0 0.00% J Eﬁxj%%f 0.00%
FHEE8E RFER 0.00%
SEENET 0 0.00% &t 8 40 100.00%
X HE 2.50%
* TR 0 0.00% 13 ~ A AZE B T RREE R
St 40 100.00% HEY - FEEETHRE ?
E = 8 ERadss
;ﬁ~ %,ff %ﬁﬁ%ﬁ%ﬁ VNG D) JEEHE 0 0.00%
52k BRSBTS =
R 2 nE 0 | o
i R 0.00%
CE 7 # H 57 RHE 0.00%
IEETT 0 0.00% EERHE 0.00%
HcSvan 27 67.50% RFER 0.00%
i 13 32.50% & BT 8 40 100.00%
e 0.00%
3 F%‘Kjﬁﬁ 0.00% 141104 3 BB REERI 40 # -
KRR 0.00% 15 KA EBARMEEER 04 -
TSR a4 40 100.00%




